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Iz EFE F—L%A & Ba Iz BEFH F—L%A ®  #= Bz BEFH F—L% F Ba Bz EFL F—L% £ B
=3 PSEE A1 9.900 -3 PIEE )] A1 9.500 L g SRR MSC N1 10. 000 1 xR H#H MSC A1 9.800
2 ML SRR MSC A1 9,700 2 JEML SRR MSC A1 9,300 2 JhE W MSC A1 9,000 2 ML SRR MS C M1 9.700
3 xR HHE MSC A1 9.500 3 xR HHE MSC A19.200 3 )l T KHY) M1 8.700 3 /NG WERIT MSC A1 9,500
4 KT wemL K H ) A19.400 4 N BT MSC A1 9.100 4 KT BEWR K Zh M1 8.500 4 KT BEW K A1 9,400
bW _#xifE  SRC A1 9.350 b TEE_BUE ___SRC A1 9.000 5 xR L _MSC A1 8.400 4 1N _SIH LH A1 9.400
6 /hE R MSC A1 9,300 5 KT BEmL K H ) A1 9,000 6 Al Onh TAX M1 8.300 6 )l EHT KHY) 19,300
7 Hm FLIP A19.200 7 IIF #x#E SRC A1 8.900 7 WEF T AR £ 8.200 7 IIF #ix#E SRC A9, 200
8 N 4AH L5 A1 9.100 8 Ak AL T AR M1 8.800 7SI K FLIP £ 8.200 8 LA A T AKX A1 9.000
9 ik BJE SRC A1 9.050 9 Hi FLIP M1 8.700 9 WA HI L5 M1 8.150 9 fi Onh TAX A1 8.800
10 g2 FEAK SRC A1 9.000 0 Al Ohpbh AKX A1 8.600 10 (LA Al T AR A1 8.100 10 _Hia_ = FLIP A1 8.400
11 [%y ESAY #E 8.950 11 MR BEA SRC A1 8.400 11 #&F Fr§ o0 £ 8.050 11 ]S s ESAS £ 8.200
12 Al O =X A1 8.900 11 L S H A A1 8.400 12 i FR 50 £ 8.000 12 i FR 50 £ 8.000
13 ST 3K FLIP R 8.700 QR A T AR £E 8,400 13 Hpm # FLIP A1 7.900 13 WA H¥ 50 M1 7.700
4 WA HEX LHn A1 8.600 14 il FIK Lo £ 8.300 14 0 S H L on M1 7.800 13l A4 L Hn M1 7.700
15 A A S M1 8.500 15 Ly A L5 A1 8.200 15 Ly A Lo N1 7,600 13 _#%#TF A& A FET7.700
15 i FR 50N £E  8.500 5 &+ A& o0 £E 8.200 16 I 3K FLIP w5 71.500
17 (Ll RS o0 A1 8.400 17 SE)I 3K FLIP £E - 7.800

18 %#TF A& Lo £ 8.300
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[:td EFA F—L%B £ B2 Bz EFH F—L%A £ B2 B3z EFH F—LA £ 88 [:3a BEFH F—Lf £ B
1 Bl =5 Lo A2 9.900 1 Bl =% YD M2 9.600 L OB G MS C A2 9.900 S MS C M2 9.950
2 HiH B MSC M2 9.800 2 B REER T LR N2 9,400 2 BA%K M SRC N2 9,700 2 B AL MEEOYE  H2 9.600
3 B Zab MEE > 42 9.700 3 B Zab MEESE 12 9.200 3 R O WKRE SRC N2 9,600 3 B wmE L5 N 9. 500
4 PR A SRC M2 9.600 3 HiH B MSC N2 9,200 3 Bl = Lo5n N2 9,600 4 BRI SRC N 9. 400
bR MEKHE  SRC 2 9.550 5 BAK 3 SRC A2 9.100 b PIAM ik MSC A2 9.400 5 EE EiE SRC s 9.300
6 iR PEE MS C ~29.500 6 B Kk SRC N2 9,000 6 fHE DB MS C N2 9,300 5 R PEE MSC N 9.300
7 BIAAR Fidk MSC M29.400 6 iR E MSC M2 9.000 7 OMHE FE L Hn A2 9.100 T R WKRFE SRC N 9. 200
8 AR AEER T AR M2 9.200 6 FIAAR Fidk MSC A2 9.000 8 Mg ftHl FLIP N2 8.600 8 Eok  Fil RS A2 8.900
9 Ek Fo BB M2 9,150 9 SFR WMAFE SRC N2 8.900 9 I B3R FLIP A2 8.500 8 AR AEER T AR R 8.900
10 HhH __AHAE Lo 429,100 9 B AR FLIP Az 8,900 10 #ok  Hid BB AT 28,400 8__FIAMR #id MSC Az 8,900
11 =& X SRC A2 9.000 11 %8 #HR FLIP N2 8.800 11 B &b WEEOOFB  h2z 8.300 11 % AR FLIP Nz 8.800
11 %42 HHR FLIP A2 9.000 12 HﬁEE E &Ew\ M2 8.700 12 =i kR SRC M2 8.200 12 BAE fEF FLIP M2 8.600
13 BE R FLIP M2 8.900 13 ik #ib BB 2 8.600 13 4% R FLIP M2 7.900 13 WhE fEE Lo 42 8.500
14 I B3 FLIP M2 8.700 14 A #EE Y SMC A2 8.500 14 )Ilg  #E Y SMC N2 7.700 4 )ilg #E Y SMC M2 8.200
15 J)IlE HEE Y SMC N2 8.600 15 Sl B3 FLIP h2 8.300 15 S REER T AR A2 7,400 15 STl B3 FLIP A2 8.100
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N EF4 F—LA £  Ba IE iz EFL F—LA 2  #Ba I EFH F—LA F B2 I EFH F—Lf £ A
1 HHE =W L5 ~3 9.800 1 HE BEE o0 ~3 - 9.700 1 HE X PFIEE] A3 9.900 1 HE XE PR A3 10. 000
2 AW BE MSC h3 0 9.600 2RI #EWL K A3 9.600 2 AW BE MSC A3 9.800 2 pE e SRC A3 9,950
3 fEE BE L5 A3 9.400 2 HHE %33 L5 A3 9.600 3 KJI HEW KH D) A3 9,700 3 Wi EW 50N A3 9.900
4 Preg mbgE SRC A3 9,300 4 EWH EF MS C M3 9.500 4 FE BE L5 A3 9.600 4 BB HE 50N A3 9.800
b il K A3 9.100 5 aA %f’/ SRC 39,300 4 e npEs SRC A3 9.600 G e = MSC A3 9,700
6 Hifx A FLIP A3 9.000 6 WE Ei K H ) ~39.200 4 BEE FE KH D) A3 9,600 6 &1 DL SRC 39,600
7 &1 LR SRC h3 0 8.900 6 BIE A FLIP M3 9,200 T OEAR EY SRC A3 9.500 7RI FEWL KHY) M3 9.500
7T BEE BN FLIP ~3 0 8.900 8 4Lk #* SRC A3 9.100 T HBER BT YSMC A3 9.500 8 HA E SRC A3 9,400
9 J& EFHE WEEHE  H3 8.800 8 &1 LR SRC A3 9.100 9 AF SRC A3 9,400 8 i FFEF KD M3 9,400
10 bk #ETY Y SMC h3 8,750 10 Pareg  nps SRC A3 9,000 I N SRC 13 9.400 8 _HIa__# FLIP A3 9,400
11 =R E SRC h3 8,700 10 HHERIE SRC A3 9.000 9 JEE KW FLIP A3 9.400 11 5 Ffk MWEE OB 43 9.350
12 RH Dme SRC h3 8.650 10 JER & K A3 9.000 9 /NEF AH(E K Zh A3 9,400 1 HI K BRAESE 39,350
13 H)II K BEE S A3 8.600 10 Pk HA FLIP A3 9.000 13 B FfE MEEYE 43 9.300 13 A4 % SRC A3 9,300
13 B8 A L5 h3 0 8.600 4 HmE A FLIP h3 0 8.900 14 Kk ZZ/h EbHn A3 9,200 13 BHE AIA FLIP A3 9,300
13__/hEp A KHH 13 8.600 14 3k WEEUHF A3 8900 14 SN KM RS 43 9.200 15 VA5 FLIP N3 9,950
16 Kk 27 &bV h3 8.550 4 FHI Kb RRE A h3 0 8.900 16 Pl WO “'®HGC N3 8.900 16 /NE A KHY) 39,150
17 A BT SRC /3 8.500 14 /NEP AHE K H /3 8.900 17 (HEE Hm FLIP 43 8.800 17 HW% By Y SMC M3 9.100
17 B #EWL KL h3 o 8.500 18 & L SRC h3 8.800 18 §E$U LN A3 8.700 18 B A Lo A3 9.000
19 M Bk SRC M3 8.450 18 R AEM FLIP h3 8.800 18 Hm FLIP N3 8.700 18 MIl Rk WEEOSFE  h3  9.000
20__ fE[E AT “EHGC A3 8.400 18 B RH Lhu A3 8.800 20 R */]4 FL1P A3 8,600 18 Pk A FLIP A3 9.000
20 g AL FLIP A3 8.400 21 Rk 227 LoHn A3 8.700 21 HHE =N o0 3 8.300 21 Tk AT “E®GC M3 8.700
22 R BN FLIP A3 8.200 22 WL SRC A3 8.600 21 bk EEA FLIP A3 8.300 22 iR BN FLIP M3 8.500
22 R EFH KH T A3 8.200 23 fliE EP FLIP A3 8.500 23 WL SRC 430,000 23 KAk I b0 M3 8.400
24 Ml FEME MEE >k 43 8.100 23 Ml FEME WEEHEB  H3 8.500 23 Il AEME MEEoF 43 0.000 24 & L= SRC 430,000
25Ok ZE SRC h3 8,000 265 _ {HpE bl “EGC 13 8.000 23 T ERmE SRC 30,000 24 WEFE e SRC 30,000
26 Hin FLIP 3 7.900 26 Lk #EJY Y SMC 3 7.000 23 #iAK  EHL SRC A3 0,000 24 MW EREE SRC A3 0.000
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[:td EF A F—L%B £ BaA Iz EFH F—L%B £ B2 Iz EFH F—L%A £ Ba B BEFH F—L£ £ B
L KK Baik PIRESEY M4 9.700 L i bATe KHEY) N4 9,600 T Y SMC N4 9.700 I AR BX Y SMC 4 9.950
2 K[ Hie SRC M4 9.650 2 ARR R SRC N4 9,500 2 w4 @mEME MSC N4 9,600 2 @ L Y SMC N4 9.850
3 MR B¥ SRC M4 9.600 3 i RE FINESES 49,400 3 HR B SRC N4 9,500 3 TERE b KHETH 449,800
1 AR BX Y SMC M4 9.550 3 MR B SRC N4 9,400 4 HE BX Y SMC N4 9,400 4 WA @EME MSC N4 9.650
5 FEHE_HAaie  kHI) M4 9,500 5 AR Bk NESES A4 9,300 5 R BBk AL 49,300 5 =R kg Y SMC 49,600
6w FLh Y SMC M4 9.450 6 AR NF 4 —=]r N4 9,200 6 KA EHUY N4 9,200 6 A J@ri,c SRC N4 9.450
6 5l Bk TEGC M4 9.450 6 R Ek TEGCe N4 9,200 6 HA KH PR N4 9,200 T MR B¥ SRC 49,400
8 i RE: FINESES M4 9,400 6 AREF Ei K HT) N4 9,200 8 TEME bar KkHI N4 9,100 8 fREF HE KHI) 449,300
9 fR¥p HE k) M4 9,350 9 HHE BBE Y SMC N4 9,100 9 i RE FINENES A4 9.000 9 &k I L5 N4 9,200
10___FAL_ AH] NESES M4 9.300 9 WA *"{i MS C N4 9.100 9 KM ®7ip SRC 49,000 10 By Hhifh SRC 44 9.100
11 JKH fE WMrEEOHE b4 9.250 11 A #'i L5 49,000 11 M 2 FLIP 4 8.900 10 HF %A “EGC 4 9.100
12 H i} NRT 4 —]r 49,200 11 &l B Y SMC A4 9.000 11 R HIE K HEI) M4 8.900 12 i RE PINENES A4 9.000
13 AR HiR BV S N4 9,150 11 JHk A Lo 49,000 13 HF EH “EGC 44 8.800 12 JkHE fHE WEEODE  H4 9.000
14 ZepE g T AR a4 9.050 14 Z2pkE EY ENY M4 8.900 14 =4 &5 Y SMC 44 8.700 12 Ak A L5 N4 9.000
15 /N2 BE WELOIE A4 9.000 14 _JkH_FHE WL I F _ hd4 8900 14 MR B SRC 48,700 12 MR B SRC 49,000
16 b FFK MrEEOHE b4 8.900 14 BHe HhiE SRC 4 8.900 14 g ER ~mGC 4 8.700 16 SEAR Hk T LR 44 8.900
17 ®mA BE4E MScC N4 8.850 17 EREOZEK MEE 5% 14 8.800 17 8K EIE A h4 8.600 17 B AR NF 4 —]r 44 8.800
18 K A& EH0 /4 8.800 17 AR ik =AX A4 8.800 18 K@ FE  WMBELOOEB b4 8500 18 L Kk WEEUSE b4 8.700
19 FHE Hig SRC N4 8.750 17 bz Lo M4 8.800 19 b i Lo 44 8.300 18 B #k TEGC N4 8.700
20 B HhAL SRC 44 8.700 20 /NE OB& WL 9 F  ha  8.700 20 A T —]r 44 8.200 18 JEE fugk L5 4 8.700
20 M EH “EHGC M4 8.700 20 A HE FLIP M4 8.700 21 =LK FLIP 4 8.000 21 RK Bk R N4 8.600
22 &K IR L5 M4 8.650 20 HY EA “EGC M4 8.700 21 EAR K T AR M4 8.000 21 AHE HiE FLIP 4 8.600
23 FJE LK FLIP M4 8.500 23 FJH LK FLIP M4 8.600 23 L7 HEH RN A4 7.400 23 FJH L FLIP N4 8.500
24 vl Eqfi SRC 44 8.400 23 HAS RH PINESES 4 8.600 23 HK AH ENENE 4 8.500
25 JE b g LHW A4 8.350 25 A M&H Y.SMC a4 8.500 25 22k e TAR o 8.000
26 W HE FLIP 4 8.300 25 ME A SRC 4 8.500 25 /NEOBR WD FE h4 8.000
27 = f&H YSMC M4 8.150 27 *\/m W7 SRC N4 7.000
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Iz EFE F—LA £  #Ba Iz EFL F—LA 2  #Ba Iz EFH F—LA =z Ba Bz EFH F—Lf £ B
L PHIE FiAmE KH) 5 9.800 1 &R bl SRC ~5 9.500 SR A5 9.700 1 PG FiAme CKEY) M5 9.700
2 i &L SRC M5 9.600 2 ZAR mpEE SRC M5 9.400 2 HA H SRC A5 9.600 2 HE bl SRC A5 9.500
3 kH al “EGC h59.550 3 VHIE  FiikwE CkEZh M5 9.300 3 kEE OEC TEGC M5 9.500 3 WA WA LHn N5 9,350
4 HE Ll SRC h5 o 9.500 3 EifE B WEEOHE H5 9.300 4 RN OEE LB A5 9.200 4 RN ORE 50N A5 9,300
5 i B WEEYIEB b5 9.450 5 RH z “BGC A5 9.200 5 W WA Lo 15 9.100 5 EH FZ ~EGC N5 9. 250
6 PR A FLIP h5 9,300 5 A AR &b h5 0 9.200 6 )l KH L5 A5 9.000 6 HA A SRC N5 9,200
6 R FE L5 M5 9.300 T AN SRC M5 9.100 7 ?ﬁﬂ DAt “mGC M5 8.600 6 HA FHET bV A5 9,200
8 T wn SRC M5 9,250 T OKH o0 A5 9,100 8 BB WEHET ELbHn /N5 8.100 8 fEM OAE ~EGC 59,150
8 AR FET LbW h5 9,250 9 ik EE FLIP M5 9.000 9 |4 WHEIy FLIP M5 7.900 9 =K MmpEFE SRC A5 9,100
10 =K Mm% __SRC A5 9.200 9 JifA R T X A5 9.000 10 il SEAE xR A5 7.300 10 @il sE WL R Hd A5 9.000
11 I KR L5 h5 0 9.150 9 hp &S SRC A5 9.000 11 R R FLIP A5 7.000 10 [(hn F&ESE SRC A5 9.000
12 R KA L5 A5 9.100 12 B8 A L5 M5 8.900 12 A R FLIP A5 8.800
12 A8 & SRC h5 o 9.100 12 vy —/L74 SRC M5 8.900 12 R #§fE MEE >k +5  8.800
14 18R AR “EGC A5 9,050 12 UF W SRC /N5 8.900 12 Il KH L Hn A5 8.800
15 JiHi 3ERLgE T A X 5 9.000 15 EWT 5 Lo 5 8.800 15 JTA AR T AX A5 8.700
16 v r—L7 5 SRC h5 0 8.950 15 (% W45 FLIP h5 8.800 16 % WZk)y FLIP N5 8.600
17 WA SRC M5 8.850 15 R #5fE WEEOHEB  H5 8.800
18 R I&fE Mr N> 45 8.700 15 A Sk SRC /N5 8.800
19 % W& FLIP M5 8.500 19 f#k  OAE ~“EGC A5 8.400
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[:td EFA F—L%B £ B2 Bz EFH F—L%A £ B2 B3z EFH F—L%A £ B2 [:3a EFL F—Lf £ B
1 KH i‘éﬁ! YA 6 9.800 1 KH EZH YA M6 9.500 NS o0 6 9.400 1 KH ‘Ez;@ o0 M6 9.900
2 JNEPEH O3 L5 M6 9.700 2 R NFE S BN N6 9,400 2 kH KT SRC A6 9,300 2 JNEFH O L5 N6 9,700
3WE AR b M6 9.500 2 NEFPEOE EHn N6 9.400 3 A BN WEEOSE  h6 9.200 3 WK R B0 A6 9.300
4 il ER WEESEB  h6 9.400 4 /JNEFO D% SRC A6 9,300 4 = BHEHR Lo5n A6 9.100 4 EfE R W LS h6  8.700
5 e U WEEYO B h6 9350 5 il EEE MEE o 46 9200 4 R REH] Y SMC A6 9.100 5l E3E WL 9B b6 8.500
5 Pl N WEE 98  »6  9.350 6 Il N WREEOHE  h6 9.100 6 PEJIl R WEEOSF  h6  9.000 6 /PO E SRC A6 8.400
7 /O LE SRC M6 9.300 6 =4 1h SRC A6 9,100 7 ®HF SRC A6 8.900 6 ME EEL MEELOOEB 6 8.400
T4 6 SRC M6 9.300 8 HFE  HIA SRC A6 9,000 8 FIE HmM SRC N6 8.800 8 x4 h SRC 26 8.300
9 [ ZFH SRC M6 9.250 9 A R MEE 5% 46 8.900 9 KM = 5N N6 8.700 8 HEE W MEEOSE  H6 8.300
10 #R Bt WEEO9F A6 9.200 10_JNpE  FEEZS WL OB 6 8.800 10 rh A3 WL 94 /h6 8600 10 P WEEOHE  h6 8200
11 REE W WL O>F 46 9.100 10 & BH&E L5 N6 8.800 11 %% 1A SRC N6 8.500 10 | AEF YSMC 46 8.200
11 R B SRC M6 9.100 12 [ %H SRC N6 8.700 12 HF Bl “BGC N6 8.400 12 F6E Bt WEEOHFE 46 8.100
13 F BHER LHn /69,000 12 32 ByE WML o%k 46 8.700 13 rM INFRE BN M6 8.200 13 [ %FH SRC M6 7.900
14 g KEHR OMBELOOE b6 8.950 12 fE® ME WL 9% ~6 8700 13 fEE Hi SRC A6 7.900
15 $hAR  EP SRC 46 8.800 15 _HF el “EHGC A6 8.600 15 _HH e “HEGC A6 7.800
16 Hf =<H SRC 6 8.750 15 HE  AEA Y SMC 6 8.600 15 = BFEH Lon M6 7.800
17 XKH T SRC N6 8.700 17 xKH T SRC M6 8.400
18 HE A Y SMC N6 8.600 18 Ak HP SRC 6 8.300
19 HEFf Bl ~HEGC N6 8.550 19 HFf &< SRC M6 8.000
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I EFE F—LA =z B/ Bz EFL F—L% F B2 Iz EFH F—L% F Ba I EFA F—LA s
1 HAf %FWME FLIP 1 9.850 ESTEEYS SRC iz 9.600 VRS L5 2 9.600 TS YD 413
2 R EN FLIP 1 9.800 2 R EN FLIP F19.500 2 M R BREES T F139.300 2 gt A5 EHn Fi2
3 B REEE EH5n 13 9.700 3 B REEE L5 13 9.400 3 JEAK WEIE SRC 12 9.200 3 M RKAE 50N fi2
4 HHn FE L5 F2 9.600 4 KM E L5 f12 9,300 4 FME BEE  SRC 11 8.900 4 & FiEE 50N fi2
5 A HIZE Lo 12 9.550 4 Ik __IbHEEE  SRC 12 9.300 5 MK {&KFE FLIP f11_8.800 5 (HEE )y WEHE OB 12
6 P 3T W EOHE  #2  9.500 6 Btk b WREEOHE  H2  9.200 6 At FEiE L5 fi2 8,700 6 @il W MEEOOE  H1
6 wiE B FLIP f19.500 T FiEs L5 f12 9.100 6 e RAE FLIP 11 8.700 7T WM KFE FLIP gi1
8 il WA WEE®HE  #1 9.300 8 IEl KhE FLIP F19.000 8 it i FLIP 11 8.600 Tl s BREEES T 413
8 I FLIP 19,300 8 KA HEiT SRC 11 9.000 9 E)Il fkEE Lo5n 13 8.500 9 JHAKk WEIE SRC g2
10Kl BEE SRC F19.200 8 LMk T BREHECAS 3 9.000 10 AW Bie SRC F2 8,400 10 MW _EH EHn H11
11 KM o SRC F29.100 11 HA &Fd FLIP 11 8.900 11 WNH 3 L5 11 8.300 11 AR i SRC di2
12 KA HBHEi+ SRC 19,000 11 #E BEE SRC 11 8.900 12 18R = “EmGC 11 8.100 11 2 =N FLIP gi1
12 B K “EmGC F29.000 13 =i B FLIP i1 8.800 13 )2 =N FLIP i1 8.000 13 JE)I HRefE FLIP gi1
14 7R Ed “EGC 11 8.950 14 B K “EGC 12 8.600 14 KA HEi+ SRC 11 7.800 14 18R Eal ZEGC CiB!
14 B HLE SRC 1 8.950 4t WE LTI E 1 8.600 15 B K —mGC 12 7,700 14 FrE BSE SRC 11
16 5K #EFE SRC F28.900 14 R HE SRC 11 8.600 16t WA WREEODE  d1 7.300 16 KA HfEi+ SRC fi1
17 i hrfRr BEEEBEA S 13 8.700 17 NE EF L5 11 8.500 16 @i i FLIP fi1
18 AW X¥H Lo F1 8,400 17 R Bl “mGC 11 8.500 18 B LR “EGC 2



